
0 26753-

$  000,05 $  000,001 $  000,051 $  000,002 $  000,052 $  000,003 $  000,053 $  000,004 $  000,054 $  000,005
A  eg

u  03 redn $  01.6 $  02.21 $  03.81 $  04.42 $  05.03 $  06.63 $  07.24 $  08.84 $  09.45 $  00.16
3 43-0 $  55.6 $  01.31 $  56.91 $  02.62 $  57.23 $  03.93 $  58.54 $  04.25 $  59.85 $  05.56
3 93-5 $  58.8 $  07.71 $  55.62 $  04.53 $  52.44 $  01.35 $  59.16 $  08.07 $  56.97 $  05.88
4 44-0 $  04.21 $  08.42 $  02.73 $  06.94 $  00.26 $  04.47 $  08.68 $  02.99 $  06.111 $  00.421
4 94-5 $  04.81 $  08.63 $  02.55 $  06.37 $  00.29 $  04.011 $  08.821 $  02.741 $  06.561 $  00.481
5 45-0 $  05.82 $  00.75 $  05.58 $  00.411 $  05.241 $  00.171 $  05.991 $  00.822 $  05.652 $  00.582
5 95-5 $  07.34 $  04.78 $  01.131 $  08.471 $  05.812 $  02.262 $  09.503 $  06.943 $  03.393 $  00.734
6 46-0 $  58.56 $  07.131 $  55.791 $  04.362 $  52.923 $  01.593 $  59.064 $  08.625 $  56.295 $  05.856
6 96-5 $  08.07 $  06.141 $  04.212 $  02.382 $  00.453 $  08.424 $  06.594 $  04.665 $  02.736 $  00.807

7 001-0 $  59.39 $  09.781 $  58.182 $  08.573 $  57.964 $  07.365 $  56.756 $  06.157 $  55.548 $  05.939

E eeyolpm  O efiL mreT lanoitp   ylhtnoM c  tnuoma egarevoc rep tso w htaeD latnediccA lanoitpO gnihctaM hti  
&  tnemrebmemsiD 

C ytilibarusni fo ecnedive rof noitces efiL mreT lanoitpO eht ot refeR .000,005$ fo mumixam a ot 000,05$ fo stnemercni ni elbaliava si egarevo  
d  .eludehcs ega gniwollof eht no desab egnahc lliw setaR .egarevoc ruoy fo etad evitceffe fo sa ega no desab setar laitinI .sliate

R  teehS eta
T  lliPeur

A  keew a sruoh 03 gnikrow seeyolpmE ll

I yb deuss   )laitnedurP( aciremA fo ynapmoC ecnarusnI laitnedurP ehT

E  :evitceff 0  3202/10/1

1 00-10000-690160 1 fo  4 
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A  eg S rentraP citsemoD /esuop  R  eta

u  03 redn $  221.0

3 43-0 $  131.0

3 93-5 $  771.0

4 44-0 $  842.0

4 94-5 $  863.0

5 45-0 $  75.0

5 95-5 $  478.0

6 46-0 $  713.1

6 96-5 $  614.1

7 001-0 $  978.1

C  fo tso O efiL mreT tnednepeD lanoitp   ruoy rof ecnarusni S rentraP citsemoD /esuop  w gnihctaM hti  
O  tnemrebmemsiD & htaeD latnediccA lanoitp 
 C  .000,05$ ot sgninrae launna derevoc ruoy semit 2 ot 1 rof rentrap citsemod/esuops ruoy no elbaliava si egarevo P  :etoN esael T lanoitpO eh  
D .tnuoma egarevoc efiL mreT lanoitpO ruoy fo %001 deecxe tonnac rentrap citsemod/esuops ruoy no tnuoma egarevoc efiL mreT tnednepe  
R ruoy fo etad evitceffe fo sa ega no desab setar laitinI .sliated ytilibarusni fo ecnedive rof noitces efiL mreT tnednepeD lanoitpO eht ot refe  
c  .dewolla stnuoma egarevoc mumixam dna muminim deriuqer eht weiver ot )s(etacfiitrec nalp ruoy ot refer esaelP .egarevo

S  .ega s'rentraP citsemoD /esuopS no desab si etar rentraP citsemoD /esuop

S  1 pet E  fo tnuoma eht retn S rentraP citsemoD /esuop  c  .esahcrup ot hsiw uoy egarevo =  $

S  2 pet D  .000,1 yb stnuoma egarevoc eht edivi =  $

S  3 pet M ot gnidrocca ,egarevoc fo 000,1$ rep egarevoc fo tsoc eht yb 2 petS ni stnuoma rallod eht ylpitlu  
y  .ecnarusni fo tsoc ylhtnom eht uoy sevig sihT .evoba trahc eht ni dnfi ll’uoy taht ,ega ruo =  $

O  nerdlihc elbigile lla srevoc etar muimerp en
C  .000,01$ rof nerdlihc ruoy no elbaliava si egarevo P  :eton esael T ruoy no tnuoma egarevoc ecnarusnI efiL mreT tnednepeD lanoitpO eh  
c  .tnuoma egarevoc efiL mreT lanoitpO ruoy fo %001 deecxe ton yam nerdlih

$  02.2

C  - nerdlih O efiL mreT tnednepeD lanoitp   tsoc ylhtnoM w & htaeD latnediccA lanoitpO gnihctaM hti  
D  tnemrebmemsi

 

H  latot ruoy etaluclac ot wo S rentraP citsemoD /esuop  O efiL mreT tnednepeD lanoitp   tsoc ylhtnoM
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E eeyolpm '  egA s E eeyolpm '  etaR s

u  52 redn $  80.0

2 92-5 $  90.0

3 43-0 $  71.0

3 93-5 $  01.0

4 44-0 $  11.0

4 94-5 $  11.0

5 45-0 $  41.0

5 95-5 $  30.0

6 46-0 $  40.0

6 001-5 $  50.0

S  1 pet I  ruoy etacidn w ylkee   .sgninrae =  $

S  2 pet M  ruoy ylpitlu w ylkee   yb sgninrae 6  %0 =  $

S  3 pet I  petS ni tnuoma eht f 2 $ naht retaerg si 2 005, , $ etacidni 2 005, . morf tnuoma eht etacidni ,esiwrehtO  
S  pet 2. =  $

S  4 pet M  yb edivid dna ega ruoy rof etar eht yb 3 petS ni tnuoma eht ylpitlu 10 DTS latot ruoy niatbo ot  
m  .tsoc ylhtno =  $

E eeyolpm '  egA s E eeyolpm '  etaR s

u  52 redn $  82.0

2 92-5 $  02.0

3 43-0 $  13.0

3 93-5 $  63.0

4 44-0 $  06.0

4 94-5 $  28.0

5 45-0 $  02.1

5 95-5 $  74.2

6 46-0 $  03.2

6 96-5 $  89.0

7 001-0 $  74.0

C  fo tso S  ytilibasiD mreT troh
U mumixam ruoY .tsoc egarevoc ruoy etaluclac ot woleb spets eht wolloF .ecnarusni ytilibasiD mreT trohS fo tsoc eht dnfi ot woleb trahc eht es  
w  .766,612$ fo yralas eht ot detimil si level egarevoc ruoY .005,2$ si tnuoma tfieneb ylkee

R  .sderusni lla rof egnahc a seriuqer ecneirepxe nalp fi egnahc yam setar ,oslA .yrogetac ega rehgih a sretne derusni eht sa egnahc yam seta

H  tsoc ylhtnoM DTS latot ruoy etaluclac ot wo

C  fo tso L  ytilibasiD mreT gno
U mumixam ruoY .tsoc egarevoc ruoy etaluclac ot woleb spets eht wolloF .ecnarusni ytilibasiD mreT gnoL fo tsoc eht dnfi ot woleb trahc eht es  
m  .000,002$ fo yralas eht ot detimil si level egarevoc ruoY .000,01$ ot pu si tnuoma tfieneb ylhtno

R  .sderusni lla rof egnahc a seriuqer ecneirepxe nalp fi egnahc yam setar ,oslA .yrogetac ega rehgih a sretne derusni eht sa egnahc yam seta
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I  tnemllorne fo egatnecrep siht fI .)s(nalp eht ni gnillorne seeyolpme elbigile lla fo egatnecrep cfiiceps a gnivah no dneped lliw )s(nalp ecnarusni eht fo noitatnemelpm
l  .evitceffe eb ton yam )s(egarevoc eseht ,tem ton si leve
B  .sliated rof telkoob nalp eht ot refeR .etats yb yrav yam snoisivorp dna snoisulcxe ,stfiene
F  fo ecnedive yrotcafsitas seriuqer taht tnuoma na rof ylppa uoy fI .nalp eht fo etad evitceffe eht no krow ta ylevitca eb tsum uoy ,evitceffe emoceb ot egarevoc ruoy ro
i  fo ecnedive yrotcafsitas gniriuqer tnuoma eht rof lavorppa fo etad eht no krow ta ylevitca eb tsum uoy ,aciremA fo ynapmoC ecnarusnI laitnedurP ehT ot ytilibarusn
i  .ytilibarusn
* ecnarusni erac mret-gnol ro ,emoh gnisrun ,htlaeh a ton si tI .stnapicitrap ecnarusni efil puorg ot elbaliava edam si taht erutaef a si noitpo tfieneB htaeD detareleccA  
b .diap tfieneb htaed detarelecca eht fo tnuoma eht yb decuder si tfieneb htaed ehT .egarevoc ecnarusni fo sepyt esoht rof deen eht etanimile ot dengised ton si dna tfiene  
T laredef ehT .elbaxat eb yam dna ecnatsissa cilbup rof ytilibigile tceffa yam stfieneb htaed detarelecca fo tpieceR .stfieneb etarelecca ot eef evitartsinimda on si ereh  
i yllacinorhc“ ro ”lli yllanimret“ deredisnoc si dna stfieneb eht fo tneipicer eht si derusni eht rehtehw nopu sdneped redir siht rednu edam stnemyap fo tnemtaert xat emocn  
i  .noitpo siht gnisicrexe erofeb ecivda xat lanoisseforp kees ot hsiw yam uoY ”.ll

I edoC euneveR lanretnI eht rednu tnemtaert xat elbarovaf rof yfilauq ot dednetni si etacfiitrec siht rednu dereffo stfieneb ecnarusni efil fo noitarelecca ehT :ecitoN tnatropm  
o dna emocni ruoy morf elbadulcxe eb lliw stfieneb eht ,tnemtaert elbarovaf hcus rof sefiilauq stfieneb ecnarusni efil fo noitarelecca eht fI .))g(101 noitceS CRI rednu( 6891 f  
n secnatsmucric tuoba rosivda xat defiilauq a htiw tlusnoc ot desivda era uoY .xelpmoc era stfieneb efil fo noitarelecca ot gnitaler swal xaT .noitaxat laredef ot tcejbus to  
u  .wal laredef rednu emocni morf elbadulcxe era taht stfieneb ecnarusni efil fo noitarelecca eviecer dluoc uoy hcihw redn

R  .rosivda xat lanosrep a morf thguos eb dluohs ecnatsissa dna elbaxat eb yam stfieneb detarelecca fo tpiece

T  .)”egarevoC lacideM rojaM“ sa ot derrefer netfo( egarevoc ecnarusni htlaeh ton si egarevoc sih

T TON seod erofereht dna tcA eraC elbadroffA eht rednu ”egarevoc laitnesse muminim“ deredisnoc TON si nalp fo epyt sih  
s   .egarevoc ecnarusni htlaeh evah uoy taht etadnam laudividni eht yfsita

T fo tnemtrapeD kroY weN eht yb denfied sa ecnarusni lacidem rojam ro lacidem cisab ,latipsoh cisab edivorp TON seod tI .ylno ecnarusni TNEDICCA sedivorp ycilop sih  
F  .secivreS laicnani

I  .SSENKCIS ROF EGAREVOC EDIVORP TON SEOD YCILOP SIHT - ECITON TNATROPM

T tnemtrapeD kroY weN eht yb denfied sa ecnarusni lacidem rojam ro lacidem cisab ,latipsoh cisab edivorp TON seod tI .ylno ecnarusni emocni ytilibasid sedivorp ycilop sih  
o  .secivreS laicnaniF f

N htiw elpoeP rof ecnarusnI htlaeH ot ediuG eht weiver ,eracideM rof elbigile era uoy fI .NALP TNEMELPPUS ERACIDEM A TON SI SIHT :stnediser aniloraC htro  
M   .ynapmoc eht morf elbaliava si hcihw ,eracide

G  etacfiitreC-telkooB ehT .JN ,kraweN ,ynapmoc laicnaniF laitnedurP a ,aciremA fo ynapmoC ecnarusnI laitnedurP ehT yb deussi era segarevoc ecnarusnI puor
c  00538 :seireS tcartnoC .ylppa yam hcihw ,snoitcirtser dna ,snoitatimil ,snoisulcxe ycilop yna gnidulcni ,sliated lla sniatno
©  .seititne detaler sti dna .cnI ,laicnaniF laitnedurP 1202 
P  .ediwdlrow snoitcidsiruj ynam ni deretsiger ,seititne detaler sti dna ,.cnI ,laicnaniF laitnedurP fo skram ecivres era lobmyS kcoR eht dna ,ogol laitnedurP eht ,laitnedur

S  1 pet I  .sgninrae ylhtnom ruoy etacidn =  $

S  2 pet I  naht retaerg si 1 petS ni tnuoma eht f $ 76.666,61 ,  etacidni $ 76.666,61 . eht etacidni ,esiwrehtO  
a  .1 petS morf tnuom =  $

S  3 pet M DTL latot ruoy niatbo ot 001 yb edivid dna ega ruoy rof etar eht yb 2 petS ni tnuoma eht ylpitlu  
m  .tsoc ylhtno =  $

H  tsoc ylhtnoM DTL latot ruoy etaluclac ot wo


